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Components
The diagrams are not drawn to scale.  
1. Use the diagram on the right to answer a, b, c, and d.

a. (2 pts) Draw and label the x-component of 
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b. [image: image14.wmf]s
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(2 pts) Find the magnitude of the x-component of 
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c. (2 pts) Draw and label the y-component of 
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d. (2 pts) Find the magnitude of the y-component of 
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(3 pts) Find the x component of A
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	3. (3 pts) Find the x component of B

[image: image19.wmf]s

m

[image: image20.wmf]2

s

m

         
[image: image6]


	4. (3 pts) Use P’s components to find θ
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	5. (3 pts) Find Dx
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	6. (3 pts) Find G
   
[image: image9]

	7. (3 pts) Find the x component of C
           
[image: image10]

	8. (3 pts) Use the components to find V

           
[image: image11]

	9. (3 pts) Find θ




Draw a sketch and solve mathematically. Do not solve graphically!  

10. (6 pts) Brittany buys an airplane that has a top speed of 50.9
[image: image12.wmf]s

m

 on a windless day.  When Brittany takes her new airplane out to test it the wind is blowing at 16.6
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 north.  What will Brittany’s velocity with respect to the ground be when she tries to fly east at full speed?
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θ = 45˚
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1 pt – compass


1 pt – sketch


2 pts – magnitude 


	(work & answer)


2 pts – direction


	(work & answer)
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